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(10%) Evaluate lim (-— - )
z—=0\z tanz

e 2

(12%) Let f(z) = 269 and g(z) = T "(2).
Solve the following differential equations.

(a) (10%) zy’ =2y+z’sinz, y(r)=0.

(b) (10%) (22* +y?)dz +zydy =0, y(1)=0.

[>+)
(12%) Evaluate the integral / (1—z)e %dz.
1
= (z+3)"

. (12%) Determine the interval of convergence of the power series E ) IS
ndn+l
: n=1

(10%) Find the Maclaurin series for f(a:) = z3sin (—:;—:)
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(12%) Evaluate the integral / eV3dady.
0 J4y2?

9 2J" &f

(12%) Show that the Laplace equatlon 3—-5 = Q in the coordinates (7, 8),

2 82
where z = r2cosf and y = r?sinf is 4(8)0];4-#-‘;% 4_7387‘]20 =0.




